Evaluate each of the following — exact values only.
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** Let’s find each Trig Function’s “Happy Place” (in which quadrants they are each positive)
and label our Unit Circle (back of agenda) with our findings. **
Ex 1: Angle e has a terminal si sses through the point (3, 2). Find ALL 6 trig ratios for this angle. 2 L3t =
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Ex 2: Find the—g trig values. (5 & / o3 9} "\'O‘ng\ Sidebar: How would you find theta?
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Evaluate the following without using a calculator
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3.\Find tan 6 and sec 9}11' sin 8 =<2/5 and cos 8 > 0.
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2.@1@ sec G‘pnﬁc 6§t cot 8 =#/3 and cos § < 0.
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: .6) in the coordinate plane,
1. Evaluate all six trig functions of the angle that terminates at the point (-4, -6) 10
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2. Evaluate all six trig functions of the angle that terminates at the (-3, 6) in the coordinate plane
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pvaluating Trig Functions

= 1) csc -900°
Unde-fired

3). csc -990°
\
5) tan-675°
\
- 3n
7 e
) csc a

@ 9) sec 840°

11) cot-2m
Solve each equation for 0 < 0 < 2m.
13) sec @=2
v STT
B s S
15) -1=csc @
; ST
| Z
@ 17) \[g=cot9
A e ATE
o W

Find the exact value of each trigonometric function.

£ calamlondor pcxive:

C4O =

2) cos —-I—IE
6

8) secm

10) sin 840°

\, Seed=_\ coto=_\
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16)tan9=“\/§
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Angle of Elevation & Depression Trig Worksheet KA, of 1. @
problem . @

*Draw and label picture for each

\
R Calc. RMODE] = dugrees T % Aok E.

1. Brian’s kite is flying above a field at the end of 65 m of string. If the angle of elevation to the kite
measures 70°, and Brian is holding the kite 1.2 m off the ground. How high above the ground is the kite
flying? '

= X
C% S0 = e
T% ) =i 0S Sm(70)
X 2lo)o?m |
2. From an airpolam_% at an altitude (height) of 1200 m, the angle of depression to a rock on the ground
@ measures 28°. Find the distance from the plane to the rock.
8 - —  sm(2F)= 200
C/_H’ X
T X= 1290 »[2550, 071 m]
- S (29) o
3. From a point on the grm_md 12 ft from the base of a flagpole, the angle of elevation of the top of the pole
measures 53°. How tall is the flagpole?
< O
e —
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n__ 534, xx(15 a1 £ |
4. From a plane flying due east at 265 m above sea Ievél, the Wn of two ships sailing due
east measure 35° and 25 °. How far apart are the ships? =L oof <V
-
tan39)= S
N
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Angle i
. gle of Elevation 8 Depression Worksheet (Cont.)

Find all valyeg to the nearest tenth.

S. i ite wi
:\mlﬁan ﬂ;f;soa kite thlh a 100 foot string. The angle of elevation of the
g8 - How high off the ground is the kite?

smiE2A= X
1 00
X = Q0" §m8) ’f‘éb?.?ﬂfﬁ—

6. From.lhe. top of a vertical cliff 40 m high, the angle of depression of an object that is level with the base of
the cliff is 34°, How far is the object from the base of the cliff? -

—

Yonn (3P Y0 - - =
x< ] Y40
uf_-_"-- Ly v ~ . : ' v
X o (39 ~ gO\ 2 M =

7. Anairplane takes off 200 yards in front of a 60 foot building. At what angle of elevation must the
plane take off in order to avoid crashing into the building? Assume that the airplane flies in a
straight line and the angle of elevation remains constant until the airplane
flies over the building.

JonX = w9 60 ft,
(’ 299 ﬁ .x«m -
[/ o s y s.
x= o (2D 20

8. A 14 foot ladder is used to scale a 13 foot wall. At what angle of elevation must the ladder be situated in
order to reach the top of the wall?

x= 1% \“
$M 0 EP 5 %12 ‘
X = S (O\’ZO\\ N ¢ —_ X

9. A person stands at the window of a building so that his eyes are 12.6 m above the level ground. An object is
on the ground 58.5 m away from the building on a line directly beneath the person. Compute the angle of
depression of the person’s line of sight to the object on the ground. N

+anlx)= \Z.5

x= aown (s ) RS 575

10. A ramp is needed to allow vehicles to climb a 2 foot wall. The angle of elevation in order for the
vehicles to safely go up must be 30 ° or less, and the longest ramp available is 5 feet long. Can this
ramp be used safely? ]

e SInX = ?Es: \/,e,S\Q/ X:
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